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1. XA X Sl A=l
2020H & AL EF A
T= ofl L4 x| A EHR| e toe™
127] 227 327 4827| A 1=27] 227 327 427| A
mam ton 34 20 27 34 115 41 24 33 41 138
az Eo ki 4 0 0 4 9 4 0 0 3 8
As ki 8 7 8 12 35 8 6 7 10 31
27 toe - - - - - 52 31 40 55 177
N ES Pk MWh 2,751 25357| 2926| 3,581 11,615 630 540 670 820 2,660
A toe - - - - - 682 570 710 875 2,837
2021 AFREE A3
T= ojAX|& | Tt e toe™
127 2&7| 3&27| 427| A 127 2&7| 3&27| 427| A
Z2n ton 32 36 36 36 140 39 43 43 43 169
=0
dz so ki 5 0 0 4 9 4 0 0 4 8
a8 ki 9 9 10 12 40 8 8 9 11 36
27 toe - - - - - 51 51 52 58 213
My e MWh 2,700| 3,000/ 3,000/ 3,000 11,700 618 687 687 687 2,679
A toe - - - - - 669 738 739 745 2,892

) toe(tonnage of oil equivalent) 2t TO|LAX| R A|Y &, H15EM120] a2t 4RE S = SHitst thelE L



N
=2
I
Ral
u
19
>
it
=}
-l
Jiot

x4 ol o7} ™72k & Z+oH = XH| (A &) EX2t=E
o > O 2o o . = Tl
P27 omag | °0 % | duRe P 2
M| Dok | toe | (HE) | X | Au [ | |
GlO|E{ 7} Qi L Ch
) EXILE AHO| siEsts £7(0] HL CHOHa e 1dX|of siEsts A7t BAYS ML ch




3. F82 o|{X|A+E2H|x) HE

1) LEAE
2020 = OHRIMEE e
o = o
dH 3 Al | 8 | B | = x| 2 A8 o 2E%)| 2
S| 29eke] | toe |
T 2Tk 115t 138
ang | ang | @mal 35| ton 2| ==HE9 on 2015 70| e
ISE MWh 1,14
e 240 kW 9 - >000 5 2010 70| Mg
7|EFEALR T2 1115MWh| 255
IS w7 'LHlf 75 KW 3 2015 70| Mg
] 5000MWh| 1,145
S| 200| ton/h 20 2010 ] R
1) G - FIIAL8EH|2 R diE HH[Z2| XA E0| & O HX|AFREO| 5% O| Q! AH[TH M LT}
F2) B8, 8(8), E(E)= YtEA| HELCH
2) O| S A|H
2020 & 0|4 X AHE ey
. [=]
HdH 3 A 8 | B9l | o= o] 2 A& o | =1
| 280 | toe | T
10 4.8kl 4
= x7}-3=0[0 25| ton 1 Ea 2011 5| =g
4O 7.2kl 7
3E0|A-5E0[at 33| ton 1 Ea 2015 5| =g
o 12kl 11
>4 B=0[AL-10=0[2t 8| ton 1 Ca 2020 5| sreg
1o 5.7kl 5
3E0|A-5E0/at 35| ton 1 ar 2014 5| srzg
4O 4.8kl 4
1EAD3E0[0t 25| ton 1 i 2018 5| 2=8
AZL F FHHE2|(Hkm) 0 A7t T SKFOI|(Q) 0
* I FHAC =1 S FHAE <O AZH E XX Z(ton) 0
) AT A H|
ofufxlel | AMulery | gz | w9 | o | MxdE | mgw | 8=

H|O|E{ 7t G5 LIC)

) MY X[ EH] T S, SELEHIT 7| THSHAZ] HEEHL CH(M T Ol X2 A = 4. 2 A H| 0l 7| xH)

HE LA PCS(2!HEf)
ER [ 8%kwh) SkwW) |

X A=

T
1
=
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4. YHEAH|
L= 8t
I 2020 = O HX|AHE o
HF X HFAL L2kkW) cELo Ar22F =
e | toe
CIOIE{ 7} Q& LICt
5. 52 4 - HEHES WYY|
H 2 = (kw) Z|CH 2 5Hkw) 22HkVA) CH== XA
3,500 2,120 950 1 2013
3,500 2,120 600 1 2019
3,500 2,120 400 1 2018
3,500 2,120 1,200 1 2013
3,500 2,120 1,500 1 2013
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